Math 22 NAME YOU ASKED TO BE CALLED IN CLASS:
Quiz 5
Fri Nov 9, 2012

SCORE: /35 POINTS

Find and prove an explicit formula for the sequence defined recursively by SCORE: /14 PTS
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Fill in the blanks by writing the symbolic translations. [Do not use ~, \U, M, — or “in your answers, SCORE: /6 PTS

(Assume that X is an element, and A, B, C are subsets of universal set U ) ;
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One of the following statements is true and one is false. SCORE: /15 PTS

For the true statement, write a formal element proof. DO NOT USE SET ALGEBRA.
For the false statement, find a minimal counterexample. Demonstrate clearly that your counterexample disproves the false statement,

[a] Forallsets A, B,CcU, A-(B-C)=(A-B)-C.

[b] Forallsets A, B,CcU,if Ac B-C,then ANC =0, @ @
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